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There are 13 problems on 7 pages. Problems 1 and 2 are each worth 6 points.

Each of the other problems is worth 8 points. SHOW your work. | CTRCLE | your

answer. You might find the following formulas to be useful:
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3. Let y=/zcos®(42? +3) +sin*(z) . Find .
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6. Let f(z) = %j_— . Where is f(z) increasing, decreasing, concave up,

and concave down? What are the local extreme points and points of inflection
of y = f(z). Find all vertical and horizontal asymptotes. Graph y = f(z).
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7. The surface area of a cube is growing at the constant rate of 1000 square inches
per second. How fast is the volume growing when each edge is 5 inches long?
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8. Find the points on the curve y2 4+ 2z = 9 which are closest to the point (0,0).
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‘9. Solve the Initial Value Problem -f-g =ty s Y2) =1.
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ount of arca inside the following 50 boxes. The base of each

/ ,
w
Q
>
U
G

11, Find the exact am
box has the same size.

-~
\i
'7C
S
b oy ﬂ

(22

4
>



12. Find the area of region between £ —2y =0 and y* -2z =0.
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